R

— o~ | Ahmed Mahdy |

o e e 09O O ) L9
el )9 el
~  (efetidat)

B9 SThy ) 881 & i) Dy 129 ghlis -
Ozt )blg §)5 a8 Pdf 850ald esasids -
£99) 590 2 oS B)iilus &1 2 -
OogBis patt 5158 Y1 BLILS
A 850 @ls 29 jaiams Juples -
dwolgill
(&) 0567630097 (X)) 0565657741

SligpT| ay,09 ste5

[9)1® |Sblasys Gl




C G,
CAPACITORS

N ——

H
c f

INDUCTOR

L

L M
— Lengh, I —+]

Cross-sectional area, A

.\,-- Cote material
- ( Number of turns, N
s
: T Li L: L
T: Capacitor in
Parallel
ny == 2= BRE=
L C=Cy+Cy+C3+..+4Cy
=
o
21—1>—(|:'1 [ I 1 1 1 1
& apacitor in Y ’ S s -
I CI?Serites it e Sl e Lr L Ly T L
S | 54 G s
< VCxy =
RESISTOR CAPACITOR | INDUCTOR
Elements iy -~
Denoted by R C ~l.
v Q Ve
Equation| R=— C=— =
9 ' <V (dizde)
1 1 1
r R+=R,+R,| —=—¢— | L+=L,.+L
Series |Ry=Ry+R; Gl ot titha
1 g | 1 1 1 1
Parallel | —=—+— | €C+=C,+C,| —=—¢+—
Ry Ry R, | "1 "2 L, L,




Example 2.1

Determine the values of capacitance obtainable by connecting three capacitors
(of 5 uF, H}p.F and 22;1.[5} (1) in series, (2) in parallel and (3) in series—
paraﬂ!cl. -
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